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Section A (15 questions x 2 marks each) _
- answer and write its number in the brackets.

Choose the correc

Look af the pictures ¢
L. “ount the number o
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3. Find the missing number,
__is 1 more than 16.
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4, Complete the nurmber sentence
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5. There are o rectangles fewer than iriangles.
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7. = Count the number of squares of different gizes in this
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8. . Which one of the following gives the greatest answer?
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(l) le\h
(2) 2
(3) Br*d
4y 4™ (-

10.  John has 14 toy cars. His brother has 3 oy cars fewer..
‘How many foy cars has his broth lz!:f.w,r?

a7

@) 1
(3) 17
(4) 20 ( ;
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11, The brush is longer than the pencil by

1. 7
(2) 5
3y -
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12,7 Find the missing number,

b {
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Section B-(17 questions x 2 marks)

16.

Write the number 15 in words.
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20,
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2 numbers that add up to 17.
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21, Complete the number sentence,

22, Fill in the missing nur mbers in the circles to complete the
number bonds. : '

23, Colour the ‘l'}"l‘}h_(-'ﬁtiit'“-'ﬁ‘ f"o m the right.
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2b,  Complete this number pattern
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26, @) Circle the 3™ tin from your left,
b) Cross out the & tin from your
right.
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1 less than:
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28, - Count thedriangles
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307 Write an addition senterce with these numbers and signs.
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31, Colour the 2 numbers s thét give a difference of 11

o7, (B [#) [}
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Draw the missing shape.
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C {4 guestions x 3 marks each)

Section € (4 gues |
Study the pictures carefully. Then fill in each blank with the
correct answer.

__animals running toward the

s in the

() The dog is running in front of 1 iw goat and it g the

atfimal in the race.
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X

" Study the pictures. Then answer the questions below.

_squares on the 7'

pos Hion.
(1 mark)

o
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T,

Fill in each blank with The correct answer,

L TP P A

e WU PRSP

W

(@) The longest item is the ____ e

K

(b) The toothbrush is shorter than the fork by

(©)
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Section D {“ 8 questions x 3 marks each) A ‘
Re—*ad the story sumsa carefully. Complete 1 the number sentences and
fill in the answers in the final statements .

37. The children have 6 toy cars. Their aunt gives them 3 more.
s carg do they have altogether? |

) e o b
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38. Terry was given 20 marbles and he lost 6 of them. How many
mM les had he left:

He 1\( d \ Jnay hﬁ gy ﬂ(“ -t

wtickers, }x:“wm\f hag 4 stickers more than Linda.

39, Jenny has 15
How many stickers does Linda have?
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40.  Tim has 12 marbles. Joe has 4 marbles more than Tim.
" Peter has 9 marbles fewer than Tim.
a) How many marbles does Joe have?
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Joe has marbles.

b) How many marbles does Peter

Peter has marbles,

41, BIH bought 13 kites. He bought 5 kites fewer than Joe. How
many kites did Joe buy?

Joe bought

R - www.misskoh.com 358 0ft397.




W AV AITATEIR T AWV MR IRV E iy 1T VWA T IV

.....

e

.........
,,,,,,

n gave Jovi mangoes.

43,  Lookat the picture carefully. Then complete the number

sentence below,

PRI

e T b, i e
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ANGLO CHINESE SCHOOL (PRIMARY)
MID YEAR EXAMINATION 2004

PRIMARY 1 MATHEMATICS | RS
1) 4 27) 6
2) 3 28) draw 2 more triangles

3) & : 29y 7

10) 2

11) 4

12) 3. A

13) 2
b)Y 7
14) 3 | |
35Y a)y 7 by 1d ) 2
15) 1
“ 36) a) fork b)Y 3 o) 16
16) fifteen

17) 9 8
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